








9 boxes are placed in a 3*3 matrix 

formation as there are 3 rows and 3 

columns. All of them are placed 

from bottom to top. Box J is placed 

south of box S, but Northeast of box 

U. Box E is southeast of Box O but 

not Southwest of Box S. Box D is 

North of Box B, but east of box K. 

Box B is placed in one of the rows 

above E. Box L is not west of Box 

E.

3*3 मैट्रिक्स फॉमेशन में 9 बॉक्स रखे गए हैं 

क्योंट्रि इसमें 3 रो और 3 िॉलम हैं। उन सभी िो 

नीचे से ऊपर ति रखा गया ह।ै बॉक्स J, बॉक्स S 

िे दट्रिण में रखा गया ह,ै लेट्रिन बॉक्स U िे 

उत्तर-परू्व में ह।ै बॉक्स E, बॉक्स O िे दट्रिण-परू्व

में ह,ै लेट्रिन बॉक्स S िे दट्रिण-पट्रिम में नहीं ह।ै 

बॉक्स D, बॉक्स B िे उत्तर में ह,ै लेट्रिन बॉक्स K 

िे परू्व में ह।ै बॉक्स B िो इनमें से ट्रिसी एि में 

रखा गया ह।ै E िे ऊपर िी पंट्रियााँ। ट्र्बबा L, 

ट्र्बबा E िे पट्रिम में नहीं ह।ै



9 boxes are placed in a 3*3 matrix 

formation as there are 3 rows and 3 

columns. All of them are placed 

from bottom to top. Box J is placed 

south of box S, but Northeast of box 

U. Box E is southeast of Box O but 

not Southwest of Box S. Box D is 

North of Box B, but east of box K. 

Box B is placed in one of the rows 

above E. Box L is not west of Box 

E.



P # K Y J & A 4 E 7 L O B 3 % C * 6 U M 8 X 0 F 2 H 

How many such consonants are there in the above arrangement each of which is 

immediately preceded by a symbol and immediately followed by a consonants? 

उपरोि व्यर्स्था में ऐसे ट्रितने व्यंजन हैं ट्रजनिे ठीि पहले एि प्रतीि और ठीि बाद एि व्यंजन ह?ै

a) One 

b) More than three 

c) Two 

d) None of these 

e) Three



867 375 575 648 938 

If First digit will be interchanged with Second digit in each number, then how many 

number will be the exactly divided by 3 in the above arrangement? 

यट्रद प्रत्येि संख्या में पहले अंि िो दसूरे अंि से बदल ट्रदया जाए, तो उपरोि व्यर्स्था में ट्रितनी 

संख्याएाँ 3 से ठीि-ठीि ट्रर्भाट्रजत होंगी?

(a)One

(b)Three 

(c)Four 

(d)Two 

(e)None of these



If vowels are arranged in alphabetical increasing order from left to right 

and then consonants are arranged in alphabetical increasing order from 

left to right in the given word ‘AJANTAWORK’. Then which letter is 4th 

from the right side in the new word? 

यट्रद ट्रदए गए शबद 'AJANTAWORK' में स्र्रों िो र्णावनकु्रम में बाएं से दाएं बढ़ते हुए 

क्रम में व्यर्ट्रस्थत ट्रिया जाता ह ैऔर ट्रफर व्यंजन िो बाएं से दाएं र्णावनकु्रम में बढ़ते हुए क्रम 

में व्यर्ट्रस्थत ट्रिया जाता ह।ै तो नए शबद में दायें से चौथा अिर िौन सा ह?ै

(a) A

(b) J 

(c) N 

(d) O 

(e) None of these



If in the word ‘FATHER’ , all Vowels are removed then how 

many such Consonants are there which are immediate followed by 

and immediate preceded by consonants?

यट्रद शबद ‘FATHER’ में, सभी स्र्रों िो हटा ट्रदया जाता ह,ै तो ऐसे ट्रितने 

व्यंजन हैं ट्रजनिे ठीि बाद और ठीि पहले व्यंजन हैं?

a) 2 

b) 8

c) 7 

d) 6 

e) 5
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Q. Four of the following five are alike in a certain way on the basis of 

their positions in the above arrangement and so form a group. Which is 

the one that does not belong to the group?

प्र. उपरोक्त व्यवस्था में अपनी स्स्थस्ि के आधार पर, स्नम्नस्िस् ि पा म में  े मार, 

स्नस्िि रूप  े एक  मान हैं और इ स्िए एक  मूह बनािे हैं। स्नम्न में कौन  ा उ  

 मूह  े   ब स्धि नहीं है?

(1) S1% (2) 1I8 (3) G1I (4) 435 (5) 172



Statements : 

Q≥W≥E≥R<T<Y≤U≤I      

Conclusion : 

I: Q≥T 

II: R≤I



Statements: 

A<S<D=Z<X<C 

Conclusion:

I: A<C 

II: C≥G



Statements: 

C=V>B>N>M<S<D<F<G

Conclusion:

I: B>M 

II: M<G



Statements : 

N ≤ B > D = L, B < M ≤ T 

Conclusions : 

I. N ≤M 

II. T > L



Statement: 

M < Y > N > J; E > R > N; J = P > C 

Conclusion: 

I. E > M 

II. C < Y



In a Certain code GO is written as XLNV ,than find the code for DAY ?

एक स्नस्िि कोड में GO का कोड XLNV स्ि ा गया है िो DAY का कोड क्या होगा

?

(1) MRTSG

(2) MRTGG

(3) CEHET

(4) HUIUS

(5) None of these



In a Certain code HOT is written as 58 ,than find the code for FOOT ?

एक स्नस्िि कोड में HOT का कोड 58 स्ि ा गया है िो FOOT का कोड क्या होगा

?

(1) 68

(2) 86

(3) 29

(4) 56

(5) None of these



dameges , received , apology is written as 11 , 24 , 31

head , headed , hook is written as 6 , 11 , 30

What is code for “HERO” के स्िए   भास्वि कोड क्या होगा? 

(1) 15

(2) 20 

(3) 25 

(4) 30 

(5) None of these



Statements:

No People are Lazy. 

Only a few Lazy is Man. 

All Man are Jealous. 

Conclusion: 

I. Some Jealous is not People. 

II.All People are Jealous is a 

possibility. 

िथन: 

िोई लोग आलसी नहीं हैं। 

िेर्ल िुछ लेजी मैन हैं। 

सभी परुुष ईर्षयावल ुहैं। 

ट्रनर्षिषव: 

िुछ ईर्षयावल ुलोग नहीं हैं। 

सभी लोगों िे ईर्षयावल ुहोने िी 

सम्भार्ना ह।ै



Statements:

No People are Lazy. 

Only a few Lazy is Man. 

All Man are Jealous. 

Conclusion: 

I. Some Jealous is not People. 

II.All People are Jealous is a 

possibility. 



Statements: 

Some boys are odd. 

All odd are girls. 

No girl is a toy. 

Conclusion: 

I. No toy is an odd. 

II. Some boys are not toys. 

िथन: 

िुछ लड़िे ट्रर्षम हैं। 

सभी ऑ् गर्लसव हैं। 

िोई लड़िी ट्रखलौना नहीं ह।ै 

ट्रनर्षिषव: 

िोई ट्रखलौना ट्रर्षम नहीं ह।ै 

िुछ लड़िे ट्रखलौने नहीं हैं।



Statements: 

Some boys are odd. 

All odd are girls. 

No girl is a toy. 

Conclusion: 

I. No toy is an odd. 

II. Some boys are not toys. 



Statements: 

Only a few Umbrella is Kite. 

No Kite is Ice-cream.

Each Ice-cream is Rabbit. 

Conclusion: 

I. Some Rabbit is not Kite. 

II. All Umbrella can be Ice-cream. 

िथन: 

िेर्ल िुछ अबं्रेला िाइट हैं।

िोई िाइट आइसक्रीम नहीं ह।ै

प्रत्येि आइसक्रीम रैट्रबट ह।ै 

ट्रनर्षिषव: 

िुछ रैट्रबट िाइट नहीं हैं। 

सभी छाता आइसक्रीम हो सिते हैं।



Statements: 

Only a few Umbrella is Kite. 

No Kite is Ice-cream.

Each Ice-cream is Rabbit. 

Conclusion: 

I. Some Rabbit is not Kite. 

II. All Umbrella can be Ice-cream. 



There are seven members in a family. There is no single parent. 

Priya is the only daughter of Sonu. Moni is grandmother of Chotu. 

Kamal is brother -in-law of Bhola. Sonu is the husband of Moni. 

Anu is the only niece of Bhola.

एि पररर्ार में सात सदस्य हैं। िोई एिल माता-ट्रपता नहीं ह।ै ट्रप्रया सोन ूिी 

इिलौती बेटी हैं। मोनी छोटू िी दादी ह।ै िमल भोला िा जीजा 

ह।ै सोन,ू मोनी िा पट्रत ह।ै अन ुभोला िी इिलौती भतीजी ह।ै

Q. How many male members in a family ?

एि पररर्ार में ट्रितने परुुष सदस्य होत ेहैं? 

(A) 3  (B) 4   (C) 5  (D) 2 (E) 6



There are seven members in a family. There is no single parent. 

Priya is the only daughter of Sonu. Moni is grandmother of 

Chotu. Kamal is brother -in-law of Bhola. Sonu is the husband 

of Moni. Anu is the only niece of Bhola.



There are six persons A, B, C, D, E and F, who sell different quantity of Apple. 

B sells more than F but not more than D sells. A sells more Apple than C and 

E. C sells less Apple than F. F does not sell less than A. B sells 28 Apple and C 

sells 10 Apple. 

छह व्यट्रि A, B, C, D, E और F हैं, जो अलग-अलग मात्रा में सेब बेचते हैं। B, F से अट्रिि 

बेचता ह ैलेट्रिन D से अट्रिि नहीं बेचता ह।ै A, C और E से अट्रिि सेब बेचता ह।ै C, F से िम 

सेब बेचता ह।ै F, A से िम नहीं बेचता ह।ै B 28 सेब बेचता ह ैऔर C 10 सेब बेचता ह।ै

If E sells 12 apple, then how many persons are sell more than E? 

यट्रद E 12 सेब बेचता ह,ै तो ट्रितने व्यट्रि E से अट्रिि बेचते हैं?

(a) 4 (b) 3 (c) 2 (d) 1 (e) 5



6 persons (A to F) are sitting in a triangular table and facing inside the table. Some 

of them are like fruits while some of them are like color. E sits 2nd to the right one 

who sits 3rd to the left of C, who likes Guava. Only 2 persons sit between A and the 

one who likes red color. D sits 2nd to the left of the one who likes white color, who 

sits opposite to the one who likes Apples. The one who likes Banana sits immediate 

right of the one who likes Pink color. F does not like apple. E likes White color .

6 व्यट्रि (A से F) एि ट्रत्रभजुािार मेज में बैठे हैं और मेज िे अंदर िी ओर उन्मखु हैं। उनमें से िुछ फल 

जैसे होते हैं जबट्रि िुछ रंग जैसे होते हैं। E दायें से दसूरे स्थान पर बैठा ह,ै जो C िे बायें से तीसरे स्थान 

पर बैठा ह,ै ट्रजसे अमरुद पसंद ह।ै A और लाल रंग पसंद िरने र्ाले व्यट्रि िे मध्य िेर्ल 2 व्यट्रि बैठे 

हैं। D सफेद रंग पसंद िरने र्ाले व्यट्रि िे बायें से दसूरे स्थान पर बैठा ह,ै जो सेब पसंद िरने र्ाले व्यट्रि

िे ट्रर्परीत बैठा ह।ै र्ह व्यट्रि ट्रजसे िेला पसंद ह ैर्ह गलुाबी रंग पसंद िरने र्ाले व्यट्रि िे ठीि दायें

बैठा ह।ै F िो सेब पसंद नहीं ह।ै E िो सफेद रंग पसंद ह।ै



6 persons (A to F) are sitting in a 

triangular table and facing inside the 

table. Some of them are like fruits while 

some of them are like color. E sits 2nd 

to the right one who sits 3rd to the left of 

C, who likes Guava. Only 2 persons sit 

between A and the one who likes red 

color. D sits 2nd to the left of the one 

who likes white color, who sits opposite 

to the one who likes Apples. The one 

who likes Banana sits immediate right of 

the one who likes Pink color. F does not 

like apple. E likes White color .



11 persons (A to K) are going to three different city – Kanpur, Noida and Delhi. 

Minimum three and maximum four persons are going to each city. E is going with 

I but not to Delhi. G and A are going to same city but neither Kanpur nor Noida. C 

and D going to different city but not Noida. D and K are going to same city but not 

with F. E does not go with F. J is not going to Noida. Only three persons go to 

Kanpur. C going with J but does not go with A.

11 व्यट्रि (A से K) तीन अलग-अलग शहरों - िानपरु, नोए्ा और ट्रदर्लली जा रह ेहैं। प्रत्येि शहर में 

न्यनूतम तीन और अट्रिितम चार व्यट्रि जा रह ेहैं। E, I िे साथ जा रहा ह ैलेट्रिन ट्रदर्लली नहीं जा रहा 

ह।ै G और A समान शहर जा रह ेहैं लेट्रिन न तो िानपरु और न ही नोए्ा। C और D अलग-अलग 

शहर जा रह ेहैं लेट्रिन नोए्ा नहीं जा रह ेहैं। D और K समान शहर जा रह ेहैं लेट्रिन F िे साथ नहीं। E, 

F िे साथ नहीं जा रहा ह।ै J नोए्ा नहीं जा रहा ह।ै िेर्ल तीन व्यट्रि िानपरु जाते हैं। C, J िे साथ जा

रहा ह ैलेट्रिन A िे साथ नहीं जा रहा ह।ै



11 persons (A to K) are going to 

three different city – Kanpur, Noida 

and Delhi. Minimum three and 

maximum four persons are going to 

each city. E is going with I but not to 

Delhi. G and A are going to same 

city but neither Kanpur nor Noida. C 

and D going to different city but not 

Noida. D and K are going to same 

city but not with F. E does not go 

with F. J is not going to Noida. Only 

three persons go to Kanpur. C going 

with J but does not go with A.



A certain number of persons sit in a row facing north direction. Eight persons sit 

between Y and U who sits immediate left of K. J sits 2nd to the left of U. One person 

sits between U and N. Number of persons sit between Y and S is thrice than the 

number of persons sit between J and N. L is the only neighbour of Y. Number of 

persons sit to the right of N is two less than the number of persons sit to the left of N. 

B sits third to the left of J. Y sits immediate right of L .

व्यट्रियों िी एि ट्रनट्रित संख्या एि पंट्रि में उत्तर ट्रदशा िी ओर उन्मखु होिर बैठती ह।ै Y और U िे 

बीच आठ व्यट्रि बैठे हैं, जो K िे ठीि बाएं बैठा ह।ै J, U िे बाएं से दसूरे स्थान पर बैठा ह।ै U और N िे 

बीच एि व्यट्रि बैठा ह।ै Y और S िे बीच बैठे व्यट्रियों िी संख्या J और N िे बीच बैठे व्यट्रियों िी

संख्या से तीन गनुा ह।ै L, Y िा इिलौता पड़ोसी ह।ै N िे दायीं ओर बैठे व्यट्रियों िी संख्या, N िे बायीं 

ओर बैठे व्यट्रियों िी संख्या से दो िम ह।ै B, J िे बायें से तीसरे स्थान पर बैठा ह।ै Y, L िे ठीि दायें 

बैठा ह।ै



A certain number of persons sit in a row facing north direction. Eight persons sit 

between Y and U who sits immediate left of K. J sits 2nd to the left of U. One 

person sits between U and N. Number of persons sit between Y and S is thrice than 

the number of persons sit between J and N. L is the only neighbour of Y. Number 

of persons sit to the right of N is two less than the number of persons sit to the left 

of N. B sits third to the left of J. Y sits immediate right of L .



Certain number of person are sitting in a row and all are facing north. The number 

of person are sit ahead of Z is in cube number but not more than 10 person. R sits 3 

rd to the right of Z. V sits adjacent to U and W. Y sits 3 rd to the right of X, who 

sits 5 th to the right of T. Y sits an end. Only 6 person sits between R and T, who 

sits 2 nd to the left of U. Not less than 21 people are sit in this row.

िुछ व्यट्रि एि पंट्रि में बैठे हैं और सभी उत्तर िी ओर उन्मखु हैं। Z िे आगे बैठने र्ालों िी संख्या घन 

संख्या में ह ैलेट्रिन 10 व्यट्रियों से अट्रिि नहीं ह।ै R, Z िे दायें से तीसरे स्थान पर बैठा ह।ै V, U और

W िे सट्रन्निट बैठा ह।ै Y, X िे दायें से तीसरे स्थान पर बैठा है, जो T िे दायें से पांचर्ें स्थान पर बैठा 

ह।ै Y अंट्रतम छोर पर बैठा ह।ै R और T िे मध्य िेर्ल 6 व्यट्रि बैठे हैं, जो U िे बायें से दसूरे स्थान पर

बैठा ह।ै इस पंट्रि में िम से िम 21 व्यट्रि बैठे हैं।



Certain number of person are sitting in a row and all are facing north. The number 

of person are sit ahead of Z is in cube number but not more than 10 person. R sits 3 

rd to the right of Z. V sits adjacent to U and W. Y sits 3 rd to the right of X, who 

sits 5 th to the right of T. Y sits an end. Only 6 person sits between R and T, who 

sits 2 nd to the left of U. Not less than 21 people are sit in this row.



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue

छह व्यट्रि P, Q, R, S, T और U एि ट्रत्रभजुािार मेज िे चारो ओर बैठे हैं। तीन व्यट्रि मेज िे प्रत्येि िोने पर बैठते हैं

और शेष मेज िी प्रत्येि भजुा िे मध्य में बैठते हैं। रे् सभी अंदर िी ओर उन्मखु हैं और उन्हें अलग-अलग रंग पसंद हैं -

नीला, िाला, सफेद, बैंगनी, लाल और हरा। जरूरी नहीं ट्रि सभी जानिारी इसी क्रम में हो। T, सफेद रंग पसंद िरने र्ाले 

व्यट्रि िे बायें से दसूरे स्थान पर बैठा ह,ै जो U िे ट्रर्परीत बैठा ह।ै R िो लाल रंग पसंद ह।ै R, T और सफेद रंग पसंद 

िरने र्ाले व्यट्रि िा ट्रनिटतम पड़ोसी नहीं ह।ै Q, P िे बाएं से दसूरे स्थान पर बैठा ह,ै जो मेज िे ट्रिसी एि िोने पर 

बैठा ह।ै बैंगनी रंग पसंद िरने र्ाला व्यट्रि िाला रंग पसंद िरने र्ाले व्यट्रि िे ठीि बाएं बैठा ह ैलेट्रिन P िे ट्रर्परीत 

नहीं बैठा ह।ै Q िो नीला रंग पसंद नहीं है



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.

दस व्यट्रियों L, M, N, O, P, Q, R, S, T और U िा

जन्म पांच अलग-अलग महीनों- जनर्री, मई, अगस्त, 

अक्टूबर और 9 या 30 तारीख िो हुआ था (लेट्रिन जरूरी 

नहीं ट्रि इसी क्रम में हो)। ट्रदसंबर। M और Q िे बीच तीन 

व्यट्रियों िा जन्म हुआ था और उनिा जन्म एि ही तारीख 

िो हुआ था। M और R िे बीच दो व्यट्रियों िा जन्म हुआ 

था, ट्रजसिा जन्म या तो मई या ट्रदसंबर में हुआ था। R और 

Q िे बीच पैदा हुए व्यट्रियों िी संख्या N और T िे बीच 

पैदा हुए व्यट्रियों िी संख्या िे समान ह।ै T िा जन्म 

अक्टूबर में हुआ था। S िा जन्म L िे ठीि बाद हुआ था, 

ट्रजसिा जन्म R िे बाद हुआ था। P िा जन्म ट्रदए गए महीने 

से ठीि पहले हुआ था जब O िा जन्म हुआ था। U िा 

जन्म T से पहले हुआ था। M िा जन्म R िे बाद हुआ था। 

L और S िा जन्म एि ही महीने में नहीं हुआ था। U सबसे 

बड़ा व्यट्रि नहीं ह।ै
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